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No BT EA HElniEsE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 ZART R4.4.19 YTV (ads) BREE9(<43) 6.72 6.7
2 SEIRTHET R4.4.18 Fa) (% BRHET(<4.0) BRHET(<L3.6) - Janpcc
3 SRR THT R4.4.18 =5 BRHEET(L5.1) BRHEET(<41) - Janpcc N
4 = [ ET R4.4.18 F—BLRTL(TRISF) RHEEF(<42) RHEEF(<4T) REEY
5 = [EET R4.4.18 H=Z—LAX BRHE9(<6.9) BRHET(<L5.3) - Janpcc
6 L R44.18 ALY BT (<64) B 9(<50) Ry
7 = [T T R4.4.18 K BRHET(<L5.0) 11.2 11
8 = [FET R4.4.18 b BRHET(<3.2) BRHEET(<L5.0) BRHEY

BaBEE B2 —REBEROEEE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)
HEEME: LD L1342 D L-13TDEEEIZDOVTIE., B F 24 (LN LIHTEZMIEREAL-LD) TRELTLET,




